EARAROBEEIERT — 2 N— IBISH —F 201858H22H0 (k) 6EI/1IIE3H

el S5 %23 4 174RLE205A0KE ‘ [R#&] B ‘ [Emsm]  — | & (&) 14000 B
[A&4£] 1% :1,100,000 @ 23 :418,000 @  33%&:275,000  ~ 4 3#&:165,000 @ ~ 5 7 :132,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
e = EBH 132. -3-2- . — NAARE (GEFN)
i lgl1y| b=t s—F 1~ 3 s 1(3_2)5 3-3-2-2 | 40.7 3 :(253) QE\}HK%&_
Libh=—trEFF—7 Bib—trIvtrR BREEHM IXT177—L4
N [iE] B &R :32. —4-4— . — gt (1)
2 3 LAY /2% % 3 S 1(73%:? 4-4-4-4 | 40.6 4 (4:325) el
Rixfavhoyy B:¥a—-514485-7 milll Bl
o N ATHER : -1-1- — gsE (1
slslg |/ tuET i 3 el (17;3;% 1-1-1-1 | 40.8 1 ;1_425) /M»t;;ﬂ‘
Y9G TR B:T7A/EYVY 1REE  HEA
4 o | TIWNRT JHTF # 3 ggf%ﬁﬁ 1:(333).2 6666 [40.3| — | 2 ;1:370) %éx (1)
R84 LIS Ry R B:O—IAN(0O— AES
. 43 | FHEES 1:33.2 7-7-7-7 | 40.1| — 7 462 | BEEEE (MAAB)
5710 /L% 4 54.0 (7€) ) |EmEE
L:TVHA IR B —Y—TLFT AR
. i 3 | BERR 1:33.4 2-2-2-2 |41.6| — 12 | 438 | HB@fE— (k)
6812 Lv 54.0 M (3 |EDHEA
R:wYYETyk BiA—XITVaTU— AH tF
S NA ft 3 | BEARE 1:33.9 8-8-7-8 | 40.6 | — 9 512 | REEE (fafh)
7|5|5| Y -¥NER 54.0 21/2) Lo | BB
R:A—T X144 B:R75 FEI2 Y K
— FAITEEAR . —10-0— — JIF=rSE GEFn)
8 7l=v=37Ex i 3 o 1.(324).3 10-10-9-9 | 40.6 10 :_35 ﬁ#%%
o4O B:777—kX hiilkse]
o— 5o — ]=:EN :34. ~5-5- . — FEAEE (GEF)
9 4| 75V — it 3 B 1(13/42>4 5-5-5-5 | 42.1 6 :&132) T\Ei‘ﬁ‘}fﬁ
A=A 24 B:HRXTAN=Fz KT
= = EFREA :34. -11-11- . — st (1
1017 9 TYYLS=ZLTT 4 3 g5 (11314/27) 11-11-11-10| 40.9 11 (4_026) e
R:7v3IF—L B:¥XAy hLTFg A HE
> it 3 | ABEX 1:35.0 9-9-10-11 | 41.3| — 8 466 | BHES (11E)
EH g|FEXRT T 54.0 (1 1/2) (o) |EARLE
LT EL R BiRTA MRS RiE EE
— e 3 | BHA :35. -12-12- . - gz (J118)
ol 11| F>rsy—n 4t Lk 1 (335)7 12-12-12-12| 41.5 5 :232) ez
KO- X124 B:82X7 LA Eae ]
@ 1—F—@&BIEf
13=7r= 6,12,11,3,4,2,10,5,8,7,9,1
2al=7F= 6,12,11,3,4,2,10,5,8,7,9,1
3a—+— |6,(11,12),3,4,2,(5,10),7,8,9,1
43—+ — 6,(11,12),3,4,2,10,5,7,9,8,1
[ RN
B OB 1 370M 714K 3-11 560M e & 3-8 1,470 &R 3-6-11 1,210
8 B 1" 140/ 6-11 260M B 8-3 2,590 JEH 11-3-6 7,660/
3 150/ 3-6 300M9 B E 3-11 1,660
6 110 B H 11=8 2,360

ABICOVWTRDTEEERROODE. TR LIV,



